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'N.B.: (1) Answcr all questions.
- (2) Figures to the right indicate.

1. a) Answerany two of the following:- ' 8
i) Complete the following reactions and identify the reactive intermediate
formed in each reaction:-

D NaCHCooc_!'HJ.__bi___s, A 5'-'l‘=-=nci_ &
W A €. HsOH
D R~ c —cHN —_—— 5 A il > &
.Ajc_aa

ii) Explainthe followirig_:; :
i)  Treatment of 2-bromopropanoic acid with dilute alkali results ina
substituiion product with retention of configuration.
1) The rate of acetolysis of trans-2-1odo cyclohexyl brosylate is many
times faster than the acetolysis of the cis-isomer.
i) Explain the role of FMO in reactions invol ving hard and soft nucleophiles

and electrophiles,
iv) Draw molecular orbitals of hexa—l 3, 5-triene and comment upon their

symmetry properties. ,
b) Answer any one ofthe following:- 4
i) Complete the following reaction and give its mechanism.

‘ @-
OH CHs ~° H-
A 4 : R
. c_,f-G—Hﬁ -
= ‘ .
oW

ii) Explain mechanism of a reaction which involves ketene reactive

intermediate.
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.2.1 a) * Answer any two of the following:-
. i) Using correlation djagram, explain whether the ring closing
- electrocyclic reaction of 1, 3-butadiene can take place thermally or

photochcmxcally
u) With the help of FMO method, explain sigmatropic rcarrangcments

i) Complete the following reactions.

. & _
..“H. . . .
e

) Give-synthesis of ciﬁfal,usingpericyclicpreaction.
b) Answer any one of the following;-
i) Show that Diels-Alder reaction is a thermally allowed process using FMO
‘method. . o
_ii) 'What are cheletropic reactions? Exp!ain them giving two examples,

3. a) Attempt any two of the following:-
o i)  Substituted cyclohexanols with axial - OH undergo oxidation at a faster
rate than equatorial isomer. Explain with suitable example.
ii) Discuss the conformational features of the cyclooctane,rmg system.
iii) Illustrate Curtin Hammett principle with a suitable example,
iv) "Cofonnatxon reactivity correlation depends upon selectlon of substrate."
Explain this statement with respect to smgle substrate wv‘h two or more
conformers.
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b) ‘Attempt any one of the following .
i)  Explain any two examples of transannular reactions.
u) Discuss the structural features of cis and trans hydrindane.

4. a) Atté‘mpt any two of the following -
‘ i)  Whatis meant by photosensitization? Give the mechanism, importance
and two examples of photosensitizers.
| n) Complete the followmg reaction, Give the name and mechanism-of'the

reaction:
B 3
’C Ha ,O -N=0
. '
,’cH.z.. P4 “Ha. _h_..9 2

—
~ SHa

iii) What mPatemo-BuchreMGme 1ts mechamsrn and stereochermcdl

consequences.
iv) Complete the following reactions:
K s N h 9
‘ 22
ry+ L=
O o
1)) ; | hy :
‘ . —> 7
1m \<.'h9,3m'l£-ize‘r¢_. 7
: Oz . -
v 5 . bV

: ke —_
"BegHg 1= CH cooH F
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b) Attempt any one of the following:- |
. 1) Discussthe cleavage of'a bond p to the carbonyl group in photochemical
reactions of ketones with a suitable example.
u) Complete the following reaction and give its mechanism:

s
/-é L ghs Hs
5. Answer any four of the following:-
- a) Hawis benzyne generated from phthaloyl peroxide? What is the action
of following on benzyne.
i) . Furan
ii)  Alkylamine?

b) Explain meckanism of Curtius rearrangement.

¢) Whatare ene reactions? Give two examples.

d) c‘ivmmfelaisﬂ‘reanangemem

¢) Explainthe stereochemistry and the formation of major product by Cope
elumnatmn of followmg compound:

S
/O

C:/:’”C“@ . »
N - T2

f) Assign the point group to the tollowing molpculérs.
- i) CHCL
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g) Explain photo Fries rearrangément.
h) Complete the following reactions:

’ :/+fl‘2_.»
' h
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